All that counts.

ZENNER Stealth Ultrasonic Meters ITEM| PN DESCRIPTION QTy
Parts List for Models ZSU02 (2”), 1 154247 |Cover Component SS 1
ZSU03 (3”) and ZSU04 (47) 2 | 160570 |Coupler Protective Cover 1
3 154248 |Cable Clamp H3P 1
4 154251 |Screw Slot Fillister Hd SS M4-0.7 x 8DH | 1
° 5 143888 |Screw Skt Csk SS M5-0.8 x 12 4
6 154244 |Cover Plate 1
° 7 154243 |Glass Rectangle 1
8 154242 |Glass Gasket Rectangular Formed 1
a 9 154241 |Glass Disc 1
° 10 154240 |Glass Gasket Round Formed 1
11 154236 |PCB Cover 1
12 160422 |Screw Cross Fillister Head M4-0.7 x 8 20
13 112390 |Washer Elastic M4 2
° 14 155029 |PCB Unit 1
o 15 | 154235 |PCB Bracket 1
y 2 16 | 154252 |Battery D-Cell 2
e =) 17 | 154234 |[Cable Fixture 1
\“ 18 157578 |TNC Sensor Assembly 1
° \\/ 19-A | 157122 (ZSUO02 Housing, Cast Iron 1
St 19-B | 157123 |ZSUO3 Housing, Cast Iron 1
@ \/ 19-C | 157124 |ZSU04 Housing, Cast Iron 1
° \t - 20 | 161923 |O-Ring 4
@ = 21 123;;; Transducer Assembly 4
22 156565 |T-Cover Seal 4
@ 23 154246 |T-Cover Plug 4
Q 24 | 154245 [T-Cover 4
Op
ZENNER USA
15280 Addison Rd #240, Addison, TX 75001
Phone (972) 386-6611, Fax (972) 386-1814 Rev. A

www.zennerusa.com

Page 1 of 3




ZENNER Stealth Ultrasonic Meters

Parts List for Models ZSU06 (6”) and ZSU08 (8”)

All that counts.

ITEM P/N DESCRIPTION QTY
1-A | 169100 |ZSU06 Housing, 6” 1
1-B | 169101 |ZSUO08 Housing, 8” 1

2 133992 |Eyebolt M10x12 2
3 157578 |TNC Sensor Assembly 1
4 154234 |Cable Fixture DN50-300 1
5 158537 |Battery D-Cell 2
6 154235 |PCB bracket IUW DN50-300 1
7 164402 |PCBA Unit 1
8 154236 |PCB cover [UW DN50-300 1
9 112390 |Washer Elastic M4 2
10 160422 |Screw Cross Fillister Head M4-0.7 x 8 16
11 154240 |Glass Gasket Round Formed IUW 1
12 154241 |Glass Disc IUW DN50-300 1
13 154242 |Glass Gasket Rectangular Formed 1
14 154243 |Glass Rectangle [IUW DN50-300 1
15 154244 |Cover Plate IUW DN50-300 1
16 143888 |Screw Skt Csk SS M5-0.8 x 12 4
17 | 154247 [Cover Component IUW 304 SS 1
18 | 160570 |Coupler Protective Cover IUW DN50-300 1
19 154248 |Cable Clamp H3P IUW 1
20 154251 |Screw Slot Fillister Hd SS M4-0.7 x 8 D/H 1
21 161923 |0O-Ring 25 x 2.2 70 black KTW 4
22 163863 |Transducer IUW SS 360mm 4
23 169185 |Seal for t-cover IUW DN125-200 2
24 154246 |T-Cover Plug IlUW 4
25 169183 |T-Cover IUW DN125-200 2
26 112483 |Screw Slot Fillister Hd SS M4-0.7 x 12 12

-

—

-

—

-

‘\.A 25 24

ZENNER USA

15280 Addison Rd #240, Addison, TX 75001
Phone (972) 386-6611, Fax (972) 386-1814
www.zennerusa.com

Rev. A
Page 2 of 3



ZENNER Stealth Ultrasonic Meters

Parts List for Models ZSU10 (10”) and ZSU12 (12”)

All that counts.

ITEM P/N DESCRIPTION QTY
1-A | 169102 [ZSU10 Housing, 10" 1
1-B | 169103 (ZSU12 Housing, 12" 1
2 133992 |Eyebolt M10x12 2
3 157578 |TNC Sensor Assembly 1 17
4 154234 |Cable Fixture DN50-300 1 18
5 158537 |Battery D-Cell 2
6 154235 |PCB bracket [IUW DN50-300 1 19
7 164402 |PCBA Unit 1
8 154236 |PCB cover IUW DN50-300 1 =
9 112390 |Washer Elastic M4 2
10 | 160422 |Screw Cross Fillister Head M4-0.7 x 8 16
11 154240 |Glass Gasket Round Formed IUW 1
12 | 154241 |Glass Disc IUW DN50-300 1
13 | 154242 |Glass Gasket Rectangular Formed 1
14 | 154243 |Glass Rectangle IUW DN50-300 1
15 | 154244 |Cover Plate IUW DN50-300 1
16 | 143888 |Screw Skt Csk SS M5-0.8 x 12 4
17 | 154247 |Cover Component IUW 304 SS 1
18 | 160570 |Coupler Protective Cover IUW DN50-300 1
19 | 154248 |Cable Clamp H3P IUW 1
20 | 154251 [Screw Slot Fillister Hd SS M4-0.7 x 8 D/H 1
21 161923 |O-Ring 25 x 2.2 70 black KTW 4
22 | 170260 [Transducer IUW SS 400mm 2
23 | 163863 [Transducer IUW SS 360mm 2
24 | 169185 [Seal for t-cover IUW DN125-200 2
25 | 154246 |T-Cover Plug IUW 4
26 | 169184 [T-Cover IUW DN250-300 2
27 | 112483 |Screw Slot Fillister Hd SS M4-0.7 x 12 16
-
-
—
=
-
=
-
27
ZENNER USA

15280 Addison Rd #240, Addison, TX 75001
Phone (972) 386-6611, Fax (972) 386-1814
www.zennerusa.com

Rev. A
Page 3 of 3



